 (%£%1f2%X: ;;_:_

LR & SRR

ﬁﬁﬁ&*i%ﬁ%@%%@ﬁ%é @ﬁ%%%@%

g (

WAEHERBES )

%
TR 50 BF

|7

xT.

RIS
TEEE)

RIS
E# ()

PPy

B &
% ﬁ(F‘EI)

RBIX2R S
B DORHR L

4

2|

s

130, 000}

%ﬁ%ﬁm
Coegl] ARG

70, 000{

20, 000;%

DIELE |

70, 000)

180, 000]

Bt - B

50, 000]

B9 5

700, 000

REL)

200, 000] -

FES - F

1, 7560, 000

HEZEET

290, 000}

HIEE

50, 000}

770,000

BB

69, 500] ¢

BEB

Bi]‘@?*é%i%@ (@A

42,100

%&%$%>'” “

175, 000

EREICET

750, 000 gﬁ_ iy

DIEH |

1, 100, 000}

180,000.w,-

mEEICET

90,000 =

HIEE

19'13

ooooo LIl T

50, 000].

Xfk e A

20 g

A=

21 T

ERCYET )

R

23]

Sty e o
HEESN 5 BF

24| -

29)

' SE%%DH'

e

.'mé ir““ 3I_1=?ﬁ.6

0
0
HE
0[
0
0
0

'5 80T 600"

CS" 3 095 ooo

. HIR LAEE (@ BhxREES X50%)

6, 016, 60

2, 900, 800

215, 000

4, 351, 200

@™ 3,095, ooo

SCILISESS i .%Lf; LA#%) X 50% = @ﬁ?ﬁ%iﬁﬂt%

ESE

:C)C’()ﬂji;"”

249,0000

249,000

()

) 19.000] . p

3 244 000

215,000]

wEe

6. 050, 600




